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HS FDS CONNECT INFO="SERVER=SQLSERVER_HOSTN
MAE. DATABASE=pubs"

HS DB _NAME=pubsHS FDS TRACE LEVEL=OFF

HS FDS RECOVERY_ACCOUNT=RECOVER

HS FDS RECOVERY_PWD=RECOVER initnorthwind.orall [
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HS FDS CONNECT _INFO="SERVER=sqlserver hostname.
DATABASE=Northwind" HS_DB_NAME=Northwind

HS FDS TRACE LEVEL=OFF

HS FDS RECOVERY_ACCOUNT=RECOVER

HS FDS RECOVERY PWD=RECOVER
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LISTENER = (DESCRIPTION_LIST = (DESCRIPTION =
(ADDRESS LIST = (ADDRESS = (PROTOCOL =TCP)(HOST =

192.168.0.2)(PORT =1521)) ) ) ) SID_LIST LISTENER =



(SID_LIST = (SID_DESC = (GLOBAL_DBNAME = test9)
(ORACLE_HOME = d:oracleora92) (SID_NAME =test9) )
(SID_DESC= (SID_NAME=pubs)
(ORACLE_HOME=d:OracleOra92) (PROGRAM=tgdmsql) )
(SID_DESC= (SID_NAME=northwind)
(ORACLE_HOME=d:OracleOra92) (PROGRAM=tgdmsql) ) ) U
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[ O : pubs = (DESCRIPTION = (ADDRESS_LIST = (ADDRESS
= (PROTOCOL =TCP)(HOST =192.168.0.2)(PORT =1521)) )
(CONNECT_DATA = (SID = pubs) ) (HS = pubs) ) northwind =
(DESCRIPTION = (ADDRESS_LIST = (ADDRESS =
(PROTOCOL =TCP)(HOST =192.168.0.2)(PORT =1521)) )
(CONNECT _DATA = (SID = northwind) ) (HS = northwind) ) [
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OO0O0000000 0O Attempting to contact (DESCRIPTION
= (ADDRESS_LIST = (ADDRESS = (PROTOCOL = TCP)(HOST
=192.168.0.2) (PORT =1521))) (CONNECT _DATA=(SID =
pubs)) (HS = pubs)) OK 2001 J O Attempting to contact
(DESCRIPTION = (ADDRESS_LIST = (ADDRESS =
(PROTOCOL =TCP)(HOST =192.168.0.2) (PORT = 1521)))
(CONNECT _DATA = (SID = northwind)) (HS = northwind))OK
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[1 global _namesC] [ alter system set global _names=false. [1 [J [ [
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identified by testuser_pwd using’ pubs’ . create public database
link northwind connect to testuser identified by testuser pwd using
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